Surds 3

@D simplify each of these.

a 6V12 = 2V3 b 3V15 =43 e 6V12 +42 d 424 = N8
e 12V40 = 3V8 £ 5V3 =43 g 1476 = 2V2 h 4V21 + 2V3
i 9V28 = 3V7 j 12V56 + 6V8 k 25V6 = 5V6 1 3254 + 46

@D Simplify each of these.

a 42xV3+242 b 45 xV3 =15 e 2V32x3V2+2V8
d 6V2 x 2V8 + 3V8 e 3V5x4V8 = 2V8 £ 12V3x4V3 + 243
g 3V8x3V12 = 348 h 4V7 x 2V3 = 8V3 i 15V2x 297 5 3V2
i 8V2x2V18 = 43 k 5V6 x 5V6 + 5v3 1 2V5 x 3V6 + V30

@D Simplify each of these expressions.
a avbxclb b avb+cVb e avbx cvb = aVvb

14) 4L+ 2% - 94
203

(1'«) A Lz~ 207

2 {3

ﬁ() 32 54 %[ 4 = §x3
4 {6

n
N
NN

/0c> 2 32 307 6 [ea 4% _ 24
E——— = S |
> /7 2[5 2z g [z



o€) 12 xaff _ 4%/ >a /3
2 X 2

s
60y KL x2A - e[
2

10¢) U5 x3/ _ ( (e
35 {30

|
)

|
1
»

”L) %% C.[B_ - C_ﬂ\-_
P

'OZ&MQ Ao Ehe resd of qu 4(0/ Q |

ANSWERS

Exercine 10 Maabe bf coelb
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f5 g7V3 h27 i6 i b They become whole numbers. Difference of two squares

ks 1 24 : makes the ‘middle terms’ (and surds) disappear.
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